ESTIMATE	SHEET						
Company Name:		MPL					
Project:		May Flower Platinum					
Work Desci	ription:	North side compound wall plastering & Upper cella	r labour quarter	S			
Contractor I	Name:	N. Krishna					
prepared by	/:	K. Narender Reddy					
Date:		13-07-2020					
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total
	North side compound wall p	plastering & Upper cellar labour quarters					
	1 Plastering I coat	Plastering work external compound wall north side	1560.00	sft	10.00	15600.00	
		track side					
	2 Brickwork	Brickwork for upper cellar labour quarts	2430.00	sft	10.00	24300.00	
	3 Doors frame fixing	Doors frame fixing for labour quarters	9.00	nos	140.00	1260.00	
	4 Ventilator fixing	Ventilator fixing	9.00	nos	100.00	900.00	
	5 Cement flooring	Cement flooring work	900.00	sft	10.00	9000.00	
	6 Brickwork for Harvesting pit	Harvesting pit brick work	132.00	sft	10.00	1320.00	
	7 RCC slab	RCC slab for harvesting pit	98.00	sft	40.00	3920.00	
							56300
							50500
	Amount in words Fifty Six T	housand Three Hundred rupees only					

MEASURE	EMENT SHEET								
Company	Name:	MPL							
Project:		May Flower Platinum							
Work Des	cription:	North side compound wall plastering & Upper cellar labour qua	rters						
Contractor	Name:	N. Krishna							
prepared b	by:	K. Narender Reddy							
Date:		13-07-2020							
			А	В	С	D	E	F	G
S.No	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Total Head
	North side compound wall	plastering & Upper cellar labour quarters							sft
1	Plastering I coat	Plastering work external compound wall north side at railway	130.00	1.00	12.00	1	1560	sft	
		track side							1560
	Prickwork	Priekwark for upper coller lebour quarte	95.00	1.00	9.00	1	855	off	
2	BIICKWOIK	Brickwork for upper cellar labour quarts	95.00 85.00	1.00	9.00	1	765		
			10.00	1.00	9.00	9			
			10.00	1.00	9.00	9	010	SIL	2430
	Deuction	Doors	2.00	1.00	5.00	9	90	sft	2430
			2.00	1.00	3.00	9			
						-			144
		Total Brick work area							2286
3	Doors frame fixing	Doors frame fixing for labour quarters	1.00	1.00	1.00	9	9	nos	
	Ventilator fixing	Ventilator fixing	1.00	1.00	1.00	9	0	nos	g
			1.00	1.00	1.00	3	3	1105	g
5	Cement flooring	Cement flooring work	10.00	10.00	1.00	9	900	sft	
-	3					-			900
6	Brickwork for Harvesting pit	Harvesting pit brick work	7.00	1.00	5.50	4	154	sft	
									154
7	RCC slab	RCC slab for harvesting pit	7.00	1.00	7.00	2	98	sft	
									98

Bill for Consumables

N.Krishna H.no. 8-34/5/2, Balaji Nagar,vJawarhar nagar, Malkajgiri, Medhchal

Date:13-07-.2020

In favor of:	MPL
Project / Site:	MFP
Location:	82/1. Mallapur
Type of Work:	North side compound wall plastering & Upper cellar labour quarters
Towards:	Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done:North side compound	
	wall plastering & Upper cellar labour quarters	Rs.11,260=00
	Total amount = Rs $56,300=00$	
	Work done from date 27-06-2020 to 11-07-2020	

Amount in words: Eleven Thousand Two Hundred and Sixty rupees only.

Sign: _____

Bill for Equipment Allowance N.krishna. H.no. 8-34/5/2, Balaji Nagar,vJawarhar nagar, Malkajgiri, Medhchal

Date:13-07-.2020

In favor of:	MPL
Project / Site:	MFP
Location:	82/1. Mallapur
Type of Work:	North side compound wall plastering & Upper cellar labour quarters
Towards:	Allowance for equipment

S No.	Description	Amount
1.	Brief description of work done:North side compound	
	wall plastering & Upper cellar labour quarters	Rs.22,520=00
	Total amount = Rs $56,300=00$	
	Work done from date 27-06-2020 to 11-07-2020	

Amount in words: Twenty Two Thousand Five Hundred and Twenty rupees only.

Sign: _____

Bill for Labour charges N.Krishna. H.no. 8-34/5/2, Balaji Nagar,Jawarhar nagar, Malkajgiri, Medhchal

Date:13-07-.2020

In favor of:	MPL
Project / Site:	MFP
Location:	82/1. Mallapur
Type of Work:	North side compound wall plastering & Upper cellar labour quarters
Towards:	Allowance for labour charges

S No.	Description	Amount
1.	Brief description of work done:North side compound	
	wall plastering & Upper cellar labour quarters	Rs.22,520=00
	Total amount = Rs $56,300=00$	
	Work done from date 27-06-2020 to 11-07-2020	

Amount in words: Twenty Two Thousand Five Hundred and Twenty rupees only.

Sign: _____

		114		U						
Sl. No. – site bills register		292		Date - site bills Register			13 -	1 2020 lower plating		
Comp	any Name:	MPPL Site:				r	nay F	lower placing		
Name	of Contractor	Nr. Knishna								
Natur	e of work		Civil World						1	
Work	done	Fro	m Date	27	16/2	ero To	Date	1117	12020	
Sl.	Villa/Flat/block no). U,	Qty.	Rate		Units	Amou	nt	Contractors bill no	
No.	North Side Compadize Ceboor arts, herey	Y								
	PLASTERILY I LOA	,	1560 sft	10	01-	sft	15,60	0=00		
3.	Brickwalk Upler Let		2430 Sff	10	olr	sff	24,300= N			
4.	Door frame frame		9 200	s 11	tol-	20		0=0		
5.	yentrlator buy	,	9 h.	1	01-	ro	900=0			
6.	cement flooring		900 sft	· 1	01-	sft		$0 = \beta^{2}$		
7.	Brickwork hurverty	pit	13254		0/-	sft	1320 = P			
8.	RCC sled		98 SH	F 4	fol-	sfr	3920=12			
9.	•						<u>↓</u>			
10.						-	512	0=0		
11.		Fotal			GST bill require		`	□ YES	□ NO.	
	required		YES INC).	Measurement &					
	nsurement & mate sheet:		Required Not require			estimate sheet:			enclosed	
	WO no.		Not require		PO/WO date:					
Ken	narks :									
						a haan ar an		an antime, and any constant		
		1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -	norma dana a filmon - in to be a communication and		1999 - 1997 M. S. 1998 - 1998 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 19					
						ang were the filling of the state of the sta				
Ap	proved by Project N	ger A	Approved by Design Team			n Ap	Approved by M.D.			
				Date:			Da	Date:		
		<u> </u>	- Si	Sign:				Sign:		
Sig	m. hor					0 11 . 6.	ho u	red for cert	ifving labour bills, bill	

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor sign: = N. Krishng